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A A AMEAA AT AFEHA HA1F

A 713k 7.31 ~ 8. 29 7.31 ~ 8. 29
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LRIEY WA A Y TS B
AR, BN, THIRET, e 7 g ENE Eo
8.20 ~ 8. .29 8. 28 14:40 ~ 1740
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Table 7. 37] 2 H&E 4 A%

2| 2y F71(Bq/n’) AE(Bq/L)
;= | LA2017-17% R LA2014-12 o

s o 8¢ oy 8¢

1 | "Be N/A 0.00177+0.0000380 N/A 0.0535+0.00481
2 | YK N/A EHE N/A EAE

3 | °'Cr 5E-03 B2 Z(<1.29E-4) 1 E7£(<0.0772)
4 | *Mn 8E-05 E 2 E(<1.24E-5) 0.5 7 5(<0.0272)
5 | “Co N/A BHE N/A BEA=E

6 | ®Co 3E-04 £ 71 Z(<1.30E-5) 0.05 £ 71 2(<0.00285)
7 | PFe 5E-04 E %1 Z(2.86E-5) 0.03 E 7 £(<0.00269)
8 | “Co 8E-05 £ 7 Z(<1.60E-5) 0.02 £ 71 2(<0.00583)
9 | ®“Zn 5E-04 £ 7] Z(<3.26E-5) 0.05 £ 71 £(<0.00503)
10 | ®Sr N/A e N/A EHE

11 | ®¥Kr N/A EXE N/A EAE

12 | %y N/A A= N/A 4=

13 | *Zr 5E-04 £ 7] &(<2.38E-5) 0.5 E 74 £(<0.00462)
14 | *Nb 5E-04 £ 7] Z(<1.40E-5) 0.5 £ 71 2(<0.00300)
15 | *"Rh N/A ks N/A ey

16 | '™Ru N/A e N/A ek

17 | '%Rh N/A EHE N/A E712(<0.0261)
18 | 1%Cd N/A e N/A EHE

19 |10mA N/A EXE N/A EAE

20 | "¥sp N/A ey N/A 4=

21 | P 5E-02 EHE(<2.71E-5) 0.1 £ 71 2(<0.00298)
22 | PXe N/A BEAZE N/A ks

23 | ¥mXe N/A ERE N/A EAE

24 | B*Cs 8E-05 £ 71 Z(<9.38E-6) 0.008 B 71 £(<0.00244)
25 | ¥ Cs 8E-05 £ 7] % (<1.48E-5) 0.008 £ 71 2(<0.00281)
26 | BCe N/A ek N/A EHE

27 | "Ba 0.1 E 2 E(<5.92E-5) 10 E72(<0.0119)
28 | "La 0.1 E 7 Z(<8.25E-5) 10 £ 71 £(<0.00707)
29 | YiCe N/A A= N/A 4=

30 | ¥Ce N/A BHE N/A e

31 | ™Ce N/A ERE N/A EAE

32 | %71 N/A e N/A ek

33 | *%Bi N/A e N/A EHE

34 | *?Pb N/A BEAE N/A ERE

35 | 2“Bi N/A e N/A 4=

36 | **Pb N/A BEAE N/A ERE

37 | °Ra N/A A= N/A 4=

38 | *'Th N/A BEAE N/A ks

39 | ®Ac N/A e N/A e

40 | U N/A BEAE N/A ERE

41 | ?'U N/A ek N/A EA=E

1. ‘Be(M2 ) AA PAAEAR S Be Dedia L&
2. MDA(Minimum Detectable Activity)= 3 42HEW A
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Table 8. 3l #4143 (Bq/L)

R ) 8¥ 3
=X | AT [prre AAA o= HlaL
MDA = oI

1 "Be N/A == EH=

2 K N/A 0.155+0.00652 4=

3 ’ICr 0.05 £ 71 2(<0.00761) £ 7 Z(<0.00610)
4 >*Mn 0.005 £ 7 %(<0.000589) £ 71 Z(<0.000595)
5 “Co N/A EHE EHE

6 »Co 0.005 £ 7 £(<0.000642) £ 71 %(<0.000634)
7 *Fe 0.005 £ 712(<0.00143) £ 7 2(<0.00129)
8 %Co 0.005 £ 71 %(<0.000976) £ 71 Z(<0.000680)
9 %7Zn 0.02 £ 712(<0.00105) £ 7 Z(<0.00154)
10 8gr N/A BHE 4=

11 S5Kr N/A kY A=

12 8By N/A BHE e

13 Zr 0.006 £ 7 %(<0.000992) E71%(<0.00114)
14 *Nb 0.006 £-7] &(<0.000776) 7] %(<0.000797)
15 0IRh N/A e 24E

16 1®Ru N/A el 4=

17 | 'Rh N/A EAZ B4

18 9cd N/A el 4=

19 | ""Ag N/A BHE 4=

20 Mgn N/A 4= 4=

21 B 0.1 E 7 £(<0.0284) E7 £(<0.0241)
22 | ™Xe N/A 1= 4=

23 | ™Xe N/A BHE ek

24 ¥Cs 0.003 £ 7 %(<0.000518) £ 71 Z(<0.000490)
o N I
26 ¥Ce N/A EHE EAE

27 140Ba 0.1 £ 71 £(<0.00471) E 7 £(<0.00445)
28 | "La 0.1 B £(<0.0633) B4 £(<0.0259)
29 e N/A BAE B

30 | *Ce N/A BEAE ek )

31 e N/A EAZ B4

32 208T] N/A EAE B4

33 212pj N/A el 4=

34 212py, N/A B4 B4

35 2l4Bj N/A BHE 4=

36 1Pp N/A EAE EAE

37 | *Ra N/A EAE EAE

38 2Th N/A B4E E4=E

39 2BAC N/A B4= B4

40 »y N/A EA= EA=

41 »7y N/A ek ek
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Table 9. AN HEE(BY) ZAEH(BqL)
ZAHA 3HBq/L)
Ag | AY | B4 | IF ]
¥% | MDA
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o - WHO Guideline % &
Ao || 20 | MCs | BAFE | <029 |19 AZ( L AL
] o~ Rk
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YCs | BHZE | <0.288
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= 2=
AT 872 AZ(20 L AHE)
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ZAP—E- Ty 2AE FYT A
5ol A=HU, ol AT = %~3.34 Bq/kg-dry, 694~
705 Bq/kg—dry, BHAZE~226 Bq/kg-dry, 4% ~0.877 Bq/kg-dry= UEFRIL
AN ZAATE ol#f Table 106] =3
ZAS F 27) Ao YCs & M9E 1.25~1.52 Bq/kg-dryE UERSEI,

oA rIsdolA HT 3dZH20161d ~2018) W= AHH =S

B3 3 AAG BHE~334 Bq/kg-dry B o =&

oA WCso] HEHUAAT &ANA YCsit AFEAG ]
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Table 10. A +423H(Bq kg-dry)

N AEEIA A E) H| 3
| A% [T0mas gz AAA
MDA =

1 "Be N/A 3.34+0.511 =4=

2 K N/A 694+4.45 705+4.89

3 | 7'Cr 15 EAE(<2.67) EAZE(<344)
4 | *Mn 2 E 7 £(<0.355) B E(<0.439)
5 | YCo N/A BHE 4=

6 | **Co 2 E7 £(<0.323) £ 7 2(<0.404)
7 | *°Fe 5 E 7 Z(<0.581) EAZ(<1.09)
8 | “Co 2 EHZ(<0459) EHE(<0571)
9 | ®Zn 5 E-7 £(<0.760) E71(<0.909)
10 | ®5r N/A =4Z =4Z

11 | ®Kr N/A ek ek

12 | %y N/A BAE BEAE

13 | *Zr 5 E 7 Z(<0.658) B Z(<1.06)
14 | ®Nb 5 E 7 Z(<0.384) E7 Z(<0.473)
15 | "Rh N/A e e

16 | '™Ru N/A BAE BEAE

17 | Rh N/A s 24

18 | %cd N/A e e

19 | ""mAg N/A BHE BHE

20 | Bsp N/A 4= 4=

2| P 15 B Z(<0.546) B (<0522
2 | BXe N/A BEAE 2HE

23 | e N/A e BEAE

24 | PCs 5 E 7 £(<0.299) E 7 Z(<0.360)
% | 9Cq 5 H1}25‘i0.0787 _1.52+0.0932

E 71 &(<0.340) E 71 &(<0.401)

2 | Ce N/A 4= 24

27 | “Ba 70 E7E(<1.62) EHZ(<1.68)
28 | "La 70 EHE(<142) BEHZ(<171)
29 | MCe N/A 2= 24

30 | "Ce N/A =2HE =2HE

31 | ™MCe N/A BAE BEAE

32 | 2%7] N/A e BHE

33 | 22Bj N/A =4= =4=

34 | *pPp N/A B4 =4=

35 | 2“Bi N/A =4Z =4Z

36 | 2“Pb N/A BAE BEAE

37 | ?Ra N/A 22.6+1.84 A=

38 | *Th N/A s =2HE

39 | 2Ac N/A =4E =4=

40 | U N/A 0.877+0.111 BHE

4 | PU N/A e s

1. ‘Be(Ml 2 F), “K(ZF), ®Ra(ZHF), »U(FeHe) 2 A A4 EAE 53¢ #e 83 &%
2. MDA(Minimum Detectable Activity)©= #H4&AZEFASY
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Bq/kg-dry, £ & ~4.42 Bq/kg-dry, 7 &~1.70 Bq/kg-dryZ YEFS,
M7 ZAPE I= Table 11~Table 149 =3
ZA F 167 ESY YCs 7= H9E 0.662~20.8 Bg/kg-dryZ e
St AzE kA V| Ed A HT 3320161 ~2018) M= ESFS
T AAT EHE~24.6 Bg/kg-dry ¥ Wl =IEHJD, HAG
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Table 11. EF(RFATEA) &4 2 3H(Bqkg-dry)

& 8= AA2017-173 AdgA -
AT MDA AAA 534 A ET e

1 | "Be N/A 43.4+1.10 10.0+1.05 6.83+0.735 10.2+1.79

2 | YK N/A 492+4.89 591+5.15 645+4.95 790+5.45

3 | °!Cr 15 EHE(<345) | BEAE(<4.27) | BEHE(<3.92) | EHZE(<3.58)
4 | *Mn 2 EZE(<0463) | B3 E(<0.589) | B3 E(<0.532) | B E(<0.549)
5 | ¥Co N/A EAE EXE A= EAE

6 | **Co 2 EHZ5(<0.386) | BHZ(<0473) | B3 E(<0.441) | E7E(<0.451)
7 | Fe 5 B7E(<0.849) | EHE(<0.937) | BEAE(<1.11) | B E(<1.07)
8 | “Co 2 B7E(<0.505) | EHE(<0401) | B3 E(<0.244) | E7Z(<0.563)
9 | ®Zn 5 EAE(<1.02) | BHE(<1.12) | EFHE(<0.901) | E7E(<1.06)
10 | %Sr N/A ERE A= EAE EAE

1 | BKr N/A ek ek ek EAE

12 | ¥y N/A EAE ek e EAE

13 | ®Zr 5 EZE(<0.848) | B3 E(<0.978) | B4 E(<0.840) | EH E(<1.241)
14 | ®Nb 5 EH5(<0482) | EH2(<0.636) | B3 E(<0.563) | 7 Z(<0.563)
15 | '"Rh N/A s ek e ok

16 | '®Ru N/A EAE A= ks EAE

17 | Rh N/A ERE ERE A ERE

18 | 1Cd N/A ERE ERE ek ERE

19 |10mA N/A ek BA=E ks A=

20 | "Sn N/A A ERE A EAE

21| P 3 EZE(<0439) | B3 E(<0.806) | B3 E(<0.697) | EF Z(<0.487)
2 | Xe N/A EAE EXE A= EAE

23 | 1mxe N/A ERE oy s ok

4 | BCs 5 B4 E(<0.370) | B 2(<0453) | B4 Z(<0.411) | E7 £(<0.435)
% | s 5 2.37+0.111 2.93+0.127 1.32+0.103 0.772+0.101

(<0.416) (<0.497) (<0.465) (<0.493)

2 | ¥Ce N/A BAE BAE A= A=

27 | "'Ba 70 EAE(<222) | EHEK199) | EHE(<212) | EHE(<1.59)
2 | "La 70 EHE(<547) | BHE(<751) | BHE(<4.90) | EHE(<1.14)
29 | MCe N/A ek ek Y ek EAE

30 | Ce N/A ERE o o ok

31 | ™Ce N/A EAE EAE A= EAE

3 | 2%T7] N/A BAE EXE EX= EXE

33 | 2%Bj N/A ERE ERE ek EXE

34 | ?Pb N/A ek BA= ks A=

35 | 24Bj N/A ek ek EAE 1=

36 | ?"“Pb N/A ks BAE ks A=

37 | 2°Ra N/A 31.5+2.50 56.7+2.99 49.4+2.70 BEHE

38 | 2Th N/A 3.34+0.634 ERE A= EAE

39 | 28Ac N/A ERE oy o ok

40 | ¥°U N/A 0.945+0.156 1.42+0.192 1.41+0.172 EXE

4 | ¥U N/A ERE ERE EHE ERE

1. Be(MEF), “K(ZF) *Ra@F) “ThEF) PUESE)S A SAAELE 5HS 3B

Bash 2e

2. MDA(Minimum Detectable Activity)= 3
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Table 12. EGH(FEEA) &4 2 3H(Bqkg-dry)

& | 5 L FegA
X | A |75 gy -
MDA AAA T IA LR A 35T
1 | "Be N/A 70.7+1.38 4.66+0.713 4.68+0.664 18.6+0.800
2 | K N/A 458+5.00 897+5.75 576+4.68 680+4.74
3 | O'Cr 15 EAE(<2.32) | BEAE(<4.01) | BHE(<298) | EHZE(<3.54)
4 | >*Mn 2 ERE(<0472) | B3 E(<0464) | B3 E(<0.444) | E7 Z(<0.460)
5 | 7Co N/A B4 B ek EAZE
6 | >*Co 2 EZE(<0409) | B3 E(<0441) | B E(<0471) | EH E(<0.427)
7 | *Fe 5 EHE(<1.17) | EHE(<0.823) | B3 E(<0.579) | E7E(<0.504)
8 | “Co 2 EHE(<0.379) | EHE(<0.588) | E7E(<0.526) | BZZ(<0.567)
9 | ®Zn 5 EE(<0.900) | B E(<0.998) | 3 E(<0.752) | B3 E(<0.942)
10 | %r N/A ek EA=E EHE B4
1 | ®Kr N/A == 4= == EHE
1 | %y N/A EAZ A= EA=E EAE
13 | ®Zr 5 EAE(<1.09) | B E(<0.906) | B3 E(<0.729) | B3 E(<0.884)
14 | ®Nb 5 EZE(<0501) | B3 E(<0.558) | B4 E(<0.492) | B3 E(<0.547)
15 | 'Rh N/A ek EAE ek EAZ
16 | 'SRu N/A B4 EA=E EAE EA=
17 | "“Rh N/A EAZ EAE EA4= EAZ
18 | 'Cd N/A Ed= B4 EA=E B
19 [MmAg N/A e e == ek
20 | "Bsn N/A B4 ek B EAE
21 | P 3 EHE(<0479) | BHE(<118) | EAHE(<0527) | B3 E(<0.513)
2 | Xe N/A B4 B ek B4
23 | mxe N/A EAE EAE EAE EAE
24 | P'Cs 5 EHE(<0.418) | B =(<0.388) | 7 E(<0.383) | 7 E(<0.316)
% | s 5 2.25+0.119 1.61+0.102 1.58+0.100 0.825+0.0983
(<0.462) (<0.440) (<0.434) (<0.475)
2% | ¥Ce N/A EAZ EAE ek EAZE
27 | "Ba 70 EHE(<1.68) | BHE(<2.89) | BHE(<1.39) | EHE(<1.26)
28 | "La 70 EHE(<0.955) | BHE(<2.15) | BHE(<2.63) | EXHZE(<1.16)
29 | MCe N/A B4 EAZE ek ek
30 | Ce N/A EAZ EAE EAE EAE
31 | ™Ce N/A ek EAZE ek B
32 | 211 N/A EAZ EAZ EAZ EAZE
33 | *Bj N/A B4 EA=E EA=E B
34 | ?Pb N/A EAZ EAE ek EAZE
35 | 2Bi N/A ks 4= == ==
36 | 2“Pb N/A B4 ek EA= EAE
37 | ?Ra N/A 27.2+2 57 29.2+2.38 40.9+2.49 44.6+2.92
38 | *'Th N/A 3.15+0.627 EAE ek S EXE
39 | 2Ac N/A ek ek ek EAZE
0 | U N/A 1.04+0.158 1.13+0.144 1.23+0.156 EAZ
4 | ¥U N/A A= EA= EAE A=
1. 'Be(M ¥ &), “K(ZF) *Ra(@s), PTh(EF), PU(TeE)2 Ad PALELE 5HT A

dastA &+
2. MDA (Minimum Detectable Activity)t 47 EWAFs<
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Table 13 o
 E¥(EA) EAAABak
/kg-dry)

& | s
1 7 MDA
Be A 3
) [ K N/A — A A ey A
N A4+
B 15 512+4.84 7+0.881 T .
5 n 2 = (<163 584+5.02 5.84+0.764 SreT
6 | ®Co /A = i.457) RIS 28) | BAE(< 3645
7 e 2 %ﬁi o= = (59.528) == (<2.38) | 24 2= 8
8 | OC 5 = E_(<0-375) =) E_Zj = Uf(<9'525) 27 f(<1'92)
9 | 6 o 2 f%—’] =(<1.18) 37‘:4' £(<0457) | £ E_@ = Uf(<0.244)
= = = = =
1 K N/A “f(<(_).794) %%i(<0.432) %;’ §(<0.833) o §(<0.240)
o | By N/A =4 H€(<1.12) s Z(<0573) | BAZE (<0.491)
N I 2% B E(<1 A2(<0.16
13 | *Zr /A =t e o 4_'08) ERE 169)
% | ®Nb 5 - 74%{@ = f@. = 37‘3 = E’fﬁ<(_),47g)
5 ORe Y £ o suz Bl
16 | R N/A 45(<0453) | 7‘3 ?(<0 934) | & ﬁgiﬂ = —— =
u N BA= =4 =(<0 =4E(<1.0 eHE
17 | RK /A = o= o _.582) A= R
TR N/A fzi = f% z nf(jq.54o) = i( 0.498)
19 |10mA N/A f@ = 3751 = E% ? U§7jq-29l)
AR iy i 282 =t
21 mln N/A f@% f@% fﬁ% ggg
) = A= = = =
2 | "Xe & %7437” = = j = T e
5 [Txe| /A 2 (<0.415) | A (<0, S s
u | BAC N/A EA4E o f(<0'672) 5 7E-< 1= = =
2 5 i=] = == =] =S =] . 12) %7-] =
5 | Cs BEAE(<0375) | B =dE 2AE 5 =(<0.29)
% | 19 > 2.40+0.11 B E(<0.44 A= e
Ce N (<0.43 3 0.795 3) | BH= ERES
27 | g, /A i 1) : (<0i0.0968 1 HE(<0.367) | BHE E=
g | 10 70 5 _HE 464) 05+0.0977 A2(<0.231
La BEA= 2EA= (<0.4 0.680 )
29 | HC 70 — -E(<1.72) ——— H= = 52) .680+0.0886
€ N EHE(<0 EHE(<5 =H4E (<0.273)
30 | ¥C /A 244) | BEAZ 07) | EHE B =
e N 2A= BEHE(<2 =4 =(<2.0 =4E
31 144Ce /A 5 ‘:’? TR 31) %7_] = - 4) %7‘%% >
2 |7 N/A Sk =82 48 (<430 [ ¥4 é( 0.978)
3 | 2% N/A f@ = f@. = =4 z = 7(4<(_)~426)
34 212P11) N/A g@. = §7d = f’ﬁ- Z Lk
= | g, N/A =dE f’%é Ejj% e
TP | WA R St B ==
37 | Ra N/A f@% 37&% E;E %;f
% | 2Th N/A 27573 = fﬁ = = j = %73 =
39 | 2BAc N/A b']liz._39 62€ s f; = 5 j
0 | U N/A E@' ? 5 0'212‘95 4f E= EpZ j
RS N/A EHE .07+0.867 L0+2.62 =HE
Y N/A 1.07+0.148 B4E BAE B24E
ERES 1.70+0.189 24F 4.22+0.740
BZ 1.44+0 BAZE
= 166 5 o=
E4E BHE
EEE
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Table 14. EF(TAIRIZA S T9) 42 3 (Bq kg-dry)
2 SALE A E
5| A% |2A0rarE— < i °_k .
MDA AL A | L84 AY 8T Ae3ddFZd
1 | "Be N/A 23.7+1.16 4.59+0.801 EX= 5.55+0.807
2 | MK N/A 549+5.62 396+4.44 651+5.40 576+5.03
3 | O'Cr 15 EHE(<2.36) | BEAE(<4.94) | BEHE(<172) | BEHZE(<4.79)
4 | >*Mn 2 EZE(<0.661) | B3 E(<0.572) | B3 E(<0.554) | B3 Z(<0.561)
5 | 7Co N/A EAdE Ed= A= Ed=
6 | >*Co 2 ERE(<0527) | B3 E(<0481) | B3 E(<0.485) | B E(<0.459)
7 | “Fe 5 ERE(<1.33) | EHE(<0.590) | B E(<0.880) | B3 E(<0.938)
8 | “Co 2 EHE(<0.697) | EHZ(<0.619) | E7E(<0.306) | 7 Z(<0.586)
9 | ®Zn 5 BAE(<0.975) | EAE(<1.04) | EAE(<1.07) | EHE(<1.06)
10 | %sr N/A ERE EA=E ek ek
1 | ®Kr N/A == 4= == EHE
12| ®y N/A EAZ A= ek S EAE
13 | ®Zr 5 EHE(<1.12) | EHE(<1.01) | BEAE(<1.02) | 23 E(<1.09)
14 | ®Nb 5 EZE(<0.709) | B3 E(<0.624) | B3 E(<0.600) | EH Z(<0.613)
15 | 'Rh N/A ek EAE EAE ek
16 | 'SRu N/A Ed= Ed= = EdE
17 | 'Rh N/A EAE EAE A= EAE
18 | 'Cd N/A s EXE EXE EX=
19 |M10mA N/A = == EHE ==
20 | '"Psn N/A EXE EXE EX= A=
21| P 3 EE(<0.701) | B7E(<0.730) | B7E(<0.506) | £7 Z(<0.385)
2 | Xe N/A Ed= Ed= A= Ed=
23 | 1Bmxe N/A EAE EAE EAE EAE
24 | *Cs 5 EHE(<0.532) | BHE(<0.447) | B3 E(<0.465) | 7 E(<0.457)
% | s 5 20.8+0.281 0.662+0.109 1.15+0.113 7.83+0.172
(<0.604) (<0.537) (<0.530) (<0.535)
2% | ¥Ce N/A EAE ek ek EAE
27 | "Ba 70 EAE(<1.69) | BHE(<1.99) | BHE(<2.24) | EHE(<2.28)
28 | "La 70 EHE(<0.759) | BHE(<1.37) | BHE(<1.18) | EHE(<0.750)
29 | "Ce N/A B4 Ed= A= EAE
30 | Ce N/A ERE EAE EAE EAE
31 | ™Ce N/A EdE EdE A= EXdE
32 | 2%7] N/A EAE EAE EAE EAE
33 | *Bj N/A ERE EA=E = Ed=
34 | ?Pb N/A EAE EAE A= EAE
35 | 2Bi N/A ks 4= == ==
36 | 2“Pb N/A EX= EXE EXE ks
37 | *Ra N/A B4 Ed= A= 64.4+3.05
38 | *'Th N/A A= ks 3= ks
39 | 2Ac N/A EdE Ed= B4 EXdE
0 | U N/A EAE EAE EAE EAE
4 | ¥U N/A EAE EAE EAE EAE
1. Be(WEF), “K(ZF), Ra(BE)& Ad WAL ELZ 583 #e Basix ¥




